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happy to go with the flow.

manual=~ == 7L C/38R /KA
the situation=f2zR

we're=M§ifil I A/ FHER KN

AR
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As=fAFR As=/x1n
the author=FiiR the author=/K 41
writes=HF] I 2 AR writes=/K 41l
the ease=gRak the ease=/K I
As the author writes, the ease with which we are 6 we=paikl with which=347
satisfied enough to stop thinking is troubling. are satisfied=H#5ffi] I & /3R we=/K il
enough=f&3R /KAl are satisfied=/K 41
to stop=r=iRk to stop=/K4n
thinking=a4#R thinking=/K 4l
is troubling=M§fi] T X /FEGR is troubling=/K il
@%F 23 (647)
oy B s 1M -2 )
The brain’s=f%iR The brain’s=/X 4l
laziness=/K il
makes=F§fi| I 2 FAR makes=/K /I
i i to think=7%7 ¥ i to think= 1]
The brain’s laziness makes stopping to think — S o'ppu.1g o _;1.?; ik S o'ppu.1g © _1n x4
oo ) . 6 | switching to=fE7R switching to=2< 40
switching to manual — easier said than done. 2
manual=F4FR manual=/K 4l
easier said than done=F4iR easier said than done=/K 4l
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As=fAFR As=/x1n
yOu=aiaR
might=R#l I 2 /F45R /K
imagine=gRaR imagine=/K 41l
this=f&aR, /KN
default=fRRiR 7 7 # /v | /K4
As you might imagine, this default state of ours, in state=:Hz state=x 4N
which 'deliberate thinking is low, is highly 7 of ours=RaR /K hn
suggestible. in which=34GR
deliberate=iRaR /K 41l
thinking=fEFR ({HL, #li& /b I R) thinking=/K 4l
is low=M§i] T X /FEFR (MK 1XRERR) is low=/x i1l
is suggestible=Iifil I X FAFR is suggestible=/K 41l
highly=f&3R K 4n
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Unless=a27R Unless=/X#n
something=77R something=/K 41l
drastic=FRaR /K4 happens=/X Il
happens=W#il] I 2 /FEER that=F2zR
requires=M§fi] I X/ FEFR requires=/K 4l
Unless something drastic happens that requires us=iAaR o
us to take manual control of the situation, we're 6 | to take control of=RAFR to take control of=/K 4l

the situation=/K 4N

happy to=/X 41
go with=/K 1
the flow=/K i
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mental effort=/"8%
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However=#4zR /K il
FAER, R 4N
sneaky=rEaR /KA1
companies=a&iR companies=X 4l
use=Hifil I % /R use=/KAl
their=f47R
. . knowledge of=—~® ik 7R knowledge of="K i
However, some sneaky companies wuse their =283/ e dn
knowledge of our automatic mode preference to 7 our=is BR. .
create friction instead of remove it. automztlf_ﬁ’h‘ﬁﬁ/ o
mode=7&7R /KA
preference=AaR preference=x 4l
to create=r=7R to create=X AN
friction=23 friction="K 41l
instead of=F47 instead of=/X %0
remove=3HiR remove=/K 41l
it=r4aR it=/An
@23 (84)
oy ficl iR -1 -2
They=7&#R They=/x 4
use=Mii] I 2 /AR use=/ 4N
the law of=F&aR the law of=/K I
least mental effort=343 least mental effort=/K 4N
to their advantage=ii7) to their advantage=/K I
by=r2iR
placing=f2#R placing=/K 4l
anything=f4R anything=/K 4l
They use the law of least mental effort to their they=atiR
advantage by placing anything they don’t want you 8 don’t=F¥fi| T 2 FEER don’t="x #n
to see or do behind a wall of mental effort. want O to do="X Il
you=/K 4
see=/K Al
do=/K
behind=~ D #% 5[]/ ~IZFE AL 72 FTIC | behind=/K 401

a wall of=/x I
mental effort="x 4l
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I=faaR I=x 40
was amazed=Fff] I R AR was amazed=/K 41l
also=i&iR /K Hn
to=/K4n
see=/K 4l
y how much=/K4n
I was also really amazed to see how enorgy=RETR energy=/ 4l
much energy it costs to actually mine 6 - it=T AT ER T %
and refine fossil fuels. costs=IFHl 3 % /3R costs=/K A
to= u/—"&u){ tozkﬁﬂ
actually=s2#R /x40
mine mine=/X 1l
and:
refine=fA&R refine=/K 4l
fossil fuels=f42iR fossil fuels=/K 4l
Apparently=R2F 1% [—R] /B & [#EZ]RER S
KA
11% of=RAFR 11% of=/x 40
the energy=ifak (AL, AL #7225 I X) the energy=/K 4
that=i2R
we=iiiR we=/K 1l
use=Ifiil I A FAFR use=/K 40
is dedicated to=Iffil I X /FAFR is dedicated to=/K I
o getting=iA Rk getting=/x4n
Apparently 11% of the .enelggy F{‘?t Vl"e fossil fuels=ifiRk (AL, A& ®7A2% I A) fossil fuels=/c 41l
use is dedicated to getting fossil fuels 9 out of the ground=iAaR out of the ground=/x 41

out of the ground, so we save a lot just
by not trying to mine them.

SO=RAFR K 4N
We—‘huK
save=IFifil I 2 /FARR
a lot—‘hu‘ﬂ/ K An

trying to=s=ak /K40
mine=i&ik (AL, AIEH725 I R)
them=R3R

save=/K AN

by=/x 10
not=/ A

mine=/K
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you shouldn’t be sweating the small, not big, stuff.

shouldn’t=/x 1
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composition.

energy=pial /KN
consumption=p&7
they=#4iR

haven’t changed=i| 3 % /7R

the composition=F2 7R
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The emphasis on=iiR The emphasis on=/K 40
efficiency=aiR efficiency=/x 41
ever since=Aill ever since=/K 4l
the 1970s=1970 4F /F&iR the 1970s=/K 40
is reasonable=IFii| I A /FAFR is reasonable=/K 41
since=aik since=/K 4l
no one=/X 41l
defend=33R defend=/x4n
outright=32#R /K 41
: waste=/K 4l
The emphasis on efficiency ever since the 1970s is
reasonable, since almost no one can defend outright waste, AR R
and almost everyone agrees that recycling, double-glazed 10 | everyone=i&iR everyone=/X 41l
windows, more aerodynamic cars, more insulation in our agrees that=F§f| 2 2 /4R agrees that=/x4n
walls, and industrial efficiency will make things better. recycling=ifiR recycling=/% i1
double-glazed=f&#R /K 4N
windows=347R windows=/K 411
more aerodynamic= (%< D) Z&5%
D/ FER KA
cars=iaak cars=/K 40
more insulation=f%aRk more insulation="K 40
in our walls=&aR /K 41
and=igiR
industrial efficiency=32R industrial efficiency=/K 41
will=fEfl < 2 /FAER, KN
make O better=4iR make O better=/ 40
things=i2aR things=/x 1
@2 2 3 (5 4)
157 A Ve P i —-1.5 ~2 5
while=/x 401
measures=/X 1l
have slowed=/X 41
But while efficiency measures have slowed the growth rate
of our energy consumption, they haven’t changed the 5 rate of=/KAN

consumption=/K 1

haven’t changed=/k 1
the composition=/K 4l
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We=747R
need=M§i] T 2 /FAFR need=/K 41
zero-carbon=¥ 12 « 1—R> /B —R> + =a2— KT | zero-carbon="K 4N
NS IRBREREE R FER
We need zero-carbon emissions, and you can’t 5 emissions=iHik

“efficiency” your way to zero.

1N
can’t=Rfil I 2 FAR
“efficiency” your way=naiR
to zero=mik

can’t=/K 40
“efficiency” your way=/K 4l
to zero=/K 4N
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choosing the path to coexist with
humans?

+ But I wonder if horses enjoyed
enough benefits after they decided to
live together with humans?
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+ My eyes caught sight of a painting () =3
of a hf)]ﬁse galloping at fu‘ll speed in a 5 i [~ [~odi% | =2
magnificent natural environment. Hﬁjﬁiﬁj ==
}; A plCtuI‘e. caught my eye. It. was: ofa MEARERES | =R Mg | =%
orse running as fast as possible in a
wonderful natural setting.
5@ (64)
il%%) [V -1 -2
BHFE SN DILHED> 6000 41E & THfe7~) =RAGR K40
R = &2 [F5] =a horse,/ 7R &1 =K
* To my knowledge, the domestication Felb I~ = I A FEER FEib S =K
of horses dates back to some 6,000 (6000 AE1Z FRiT) =383k (6000 AE1Z FRiT) =/K&n
years ago.
- It seems that humans started
domesticating horses 6,000 years or so
ago.
LIk, WREARETARKRIC LR | 6 5 Fﬂr@ Fnveus) =R A REER | TRRY ZnnuZev ) =)
B U7 EEER Y fdu e, TPt ) =RAaR R N
We cannot overestimate their Mb7ob L7c) =kl I A /R Mb7eb Liz) =&
subsequent contribution to human MR =RaFR MERE) =X
society in transportation, farming and r)\Fﬁ*ﬂ:xJ =R TR =Xxdn
other kinds of work. [~ =R [~T) =&
Human society has since received (70 &) =RAFR/KAN
immeasurable benefits from this in [HiGI% | _ﬁ;\nu)i‘ (W% | =/RAaN
activities such as transportation and [ =38ER [ =R
farming.
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D% T~&@¢t$@ﬂﬁ%ﬁ§/um =R S X ) | T~ DIEDEERATS] =
- In contrast, have the animals ever FRESRES 4 IR AN
received the rewards they deserve for 5 5 [~L7=D77E 55 M _Eﬂjeﬁ;lj 2/ 3EER [~L7=DEA9 D =RAN

Deififi 215 % 1 =K40
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+ After the Industrial Revolution,
there has been a drastic reduction in
the demand for horses. They no longer
have the same prestige they once
enjoyed.

+ Since the Industrial Revolution, the
demand for horses has been rapidly
decreasing. Horses do not play as
important a role as they once did.
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+ Maybe they would live a happier life
now if they had chosen another path.

+ They might be happier if they had
instead continued to live in their wild
state until now.
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